10—1 -

ey, %08
A égg

-é ]

8.60-068 066, 0530020 0.00Z 003 006.008.01

Resolution in x (um) for PV

107?

1072

107

T

0.8

: il
—‘03:00&)060040020 001)0400600801

Resolution in x (um)

1072

107

10

Ratio
[

i
lgita Ohog

T

—03:00&06)040020 0.020.040.060.08 0.1

Resolution in x for merged vertices (um)

—=— DQM_TT__mkFit-DQM_original
—— DQM_TT__| mkFit-DQM_updated

................

*%%%%f

0808

1074

1072

107

Ratio

1.2F-

08

0020 0.002 008006008

60.068.066, 062
Resolution in y (um)

01

Resolution in z (um)

10020 0.002 00%006.008.01

rles

onstam

[Ty

T

%870.09).060.040.02 0 0.02.040.060.080.1

Resolution in y (um)

Resolutlon |n z (pm)

107}

1072

107

107

Ratio
=y

0.8f

0.6f

1072

107

-0.20.09.08).040.

020 0.02.040.060.08 0.1
Resolution in y for merged vertices (um)

LT

0:55.20.090.080.040.02 0 0.02.040.060.08 0.1

Resolution in z for merged vertices (um)



	Contents
	Page 1


